D (Printed Pages 15)

(21224) 230 11 [
B.B.A.-IIT Sem.

18091
B.B.A. Examination, Dec.-2024
Income Tax Law and Practice
(BBA-306)
(New Course)

Time : Three Hours | [Maximum Marks : 75

Note : Attempt all the sections as per

instructions.

w3t @vst o1 MR 7 iR
Section-A/dUus-3

(Very Short Answer Type Questions)
(31fcr 71y IR weA)
Note : Attempt all five questions. Each
question carries 3 marks. Very Short
answer is required not exceeding 75

words. 3><5=15
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st @1 &1 A 75 Tl A 3 A I
araféra &1

Write short note on "Assessee”.

&R FraRumear = dfere fomol |

What is difference between Tax Avoidance

and Tax Planning (Any Three)?

R IReR 3R o= Haea & da a1 AdR 8°
(BT 1)

Difference between "AOP" and "BOI".
“E3d 3R “EARNAE & a9 a7
Write short note on "Section 80C" of

Income Tax Act 1961.

IMgHR 3Fferag 1961 & “&RT 804" U= Ifarg
fowoty fores|
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5. How will you determine Residential status

of an "Individual" under Income Tax Act

19617
3R 3T 1961 & dd 31 foeel “afh
o amari Rerfa & FHaRor & &°
Section-B/dUs-d
(Short Answer Type Questions)
(eTg TR 9%)
Note : Attempt any two questions out of
the following three questions. Each

question carries 7.5 marks. Short

answer is required not exceeding

200 words. 7.5x2=15
Frafefag &9 v § 9 6= Q& ye=y
$ IR AR TS T 7.5 3D F

3RrBa 200 IIET oY TR 3TUTETT 2
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6. Find out net income of "S" for AGGGSE-
ment Year 2023-24 on the assumption
(Sec. 115 BAC is not opted)

M 2023-24 % v “war @ v oy e @
(Sec. 115 BAC w1 feiasen =18 o1r 1oy #)
(@) Sis Resident and ordinarily resident

in India

wﬁmﬁéaﬂvmmwwaﬂ
Frandy &

(b) S is Resident but not ordinarily res-

ident in India

T At & afest e dik g IR &1
Frramy =¥ &
(c) S is non-Resident in India
U R # arferar &
Salary (before standard deduction) from
Indian company for rendering services in

India, received in Australia. 2,90,000
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TRE S [ T 1 © %@ e HS'EF‘?‘
S FEs =xa S =) ?:ﬁ?ff\ﬁ?l‘[ ¥ Qi
- 2.90,000

g,

Rental income from property (Gross) In

London but receivad in India 90,000

. N o o
S ¥ SO 9§ o) o I (950) RIE

9Rda 3 WS gsf Q0,000

Income from Agriculture in India.

1,30,000
aRa 3 PN ¥ I 1,30,000
Gift received from friend 1,00,000
3 ¥ e 3R 1,00,000

Past untaxed income remitted to India
during Previous year 40,000

feq 3@ 40,000
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7. Calculate Tax Liability of Dr. D if salary

(Gross) is Rs. 8,00,000 and Agricultural
income is Rs. 6,00,00. (5ec 115 BAC is

not opted)

> 37 (THe) 8,00,0008. 3R BiY M F.

6,00,00.%ﬁr§r.€raﬁmmﬁaﬁmaﬁ|
(115 SeH @1 Fed & g1 T4 ©)

8. Explain the Provisions relating to salary

in case of (Sec 115 BAC is not opted):
33?’@7?ﬁﬁﬁﬁ'ﬁﬁqﬁﬁ@ﬁTQEﬁﬂﬁia%fEW@m
aﬁ:aﬁiﬁ15éﬁ#ﬁaﬂﬁ%mﬂ<ﬁﬁi§nnu1%)

(a) "Rent-Free Accommodation”

(b) "Leave Encashment” and
‘ﬁgiﬂmfmﬁuW'ﬁh:
(c) nGratuity" -
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Section-C/&Svs-1
(Detailed Answer Type Questions)
(foga s<Ra 9=9)

Note : Attempt any three guestions out of
the following five questions. Each
guestion carries 15 marks. Answer IS
required in detail. 15x3=45

FreicTRaa 9id 941 & ¥ (ol diF 921l &

TR difsrd| e 3 15 3id! @ &l fawgqg
3R 3Mfea gl

9. Mr. A submits the following particulars

of his income and contribution etc. fqor
the year ended 31/3/2023. Compute the

total income and tax liability for the Ay

2023-24. (Section 115 BAC is not Opteq)
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St © 3w 3w 3R e 3nfE @ 31/3/2023
P e aY o fore faRor sRqge wva € Frefwor
a¥ 2023-24 ¥ forw T 3mg 3R FR AR B
TOFT SR (OIRT 115 e &1 feped =@
T )
(i) Basic salary: Rs. 80,000 p.m.
HeT da=: 6. 80,000 ¥fT #18
(ii) Dearness allowance: 40% of
basic salary (50% forming part of
retirement benefits).
HEME W g d9d9 & 40% (50%
Jaraia oy &1 e
(iii) Children Hostel expenditure

allowance: Rs. 300p.m. per child for

3 children.
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— T e =2 Ot SMGIN- . 6000_
(vi) Ren Fres unfurnished

acoomumodaton provided =t

siew Delhi. Its lease rent is Rs
20,000p.m. accommodation owned

by employer.
P.T.0.




a8 Ree A Preggem SRITSSTT 311dr1 3umey
BT T BRIBI NSt L& 20,000 wy
nferme &1 Frivest & @it aren arar|

(vii) Motor car of 1599 cc (with driver)
was provided both for official and
private use throughout the vyear.
It costs the company Rs. 2,50,000
annually. |
1599 T DY AR BR (/A & A1) T
oy anfereIRa® 3R it <M1 3uam & fore
Yed @ 15 2| THDH! DI HUl Bl 3.
1T 2,50,000.

(viii)Cost of medical facility provided
to Mr. A and his family at private
nursing home Rs. 30,000.

R afd 8w 3 8 v 3k 3 oRar
P yae @ 18 fafcsea gfgen @ @
30,000 &G |
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(ix) His employer provided him  with
interest free loan of Ra, 40,000 to
purchase an alr-conditioner,

T Fravent < 358 vae-hdere wia o
fere 40,000 @O @1 &A1a1 1T A0l HaEr
fesan

(x) Employer contributed RS, 1,00,000

to his RPF to which he made

matching contribution,
Cradvepr 3 amdow 9 1,00,000 BT b
aimrar fan, 3R aad AnrErE 34 9

s
(xi) Interest @ 12% p-a: amounting to

Rs, 3,00,000 was credited to hig

Aforesald RPF Afc during F.Y. 2025,

23,
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=5 @ 12% ¥ia 99 (3,00,000 w93) {59

3¢ 2022-23 & &R 3B IJTWRRD JRULH
@ | 37 @ T i

(xii) Rs. 12000 were credited to his
saving bank account operated in
Punjab National Bank as interest

during FY. 2022-23.

. 12000 f&9 ¥ 2022-23 & SR Y114
"9 96 H HdTiod 346 §ad 96 @Id H
15T & ¥ ¥ w9 5741 fhe Te|
(xiii)He donated Rs. 5000 to prime
minister's national relief fund.
IR FIFHAl AT 8T DY H 5000
E R KA T
10. Explain the provisions of Set-off and
Carry-Forward of losses.
U % Ye-3i% 3R SU-BRaE & et o
ARAT PR |
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11. Define Capital Asset. How Capital Gain

is computed in case of Transfer of Long-
Term and Short-Term Capital Asset. Also
differentiate between Section 54 and
Section 54F of Income Tax Act 1961.

e SR @ aRefi X1 ST 3R
FAHITE Gof TR & EiaRol & HHA
T G @y @I MO 9 3 Sl @1 3P
sfifram 1961 @ a1 54 3R 54 €6 & &

3faR i gam|
12. Explain the following:
FrafaRaa o e &
(a) Computation of Net Annual Value in

case of income from house property.
T8 Huia 9 7 & AT H & NN Ty

DI O
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(b) Deduction under Section 80G zng
80GG of Income Tax Act 1961,
IR JUTT 1961 B &RT 8037 ik
8031151 & d&d el

(c) Clubbing provision in case of
Spouse.
STl & AWe § FetaT wqe|

13. Explain the provisions of following in
case of "Profit and Gains from Business
or Profession":

“qETT a1 U9 | @ AR @y & gmer §

FraferRaa waemi o e &R

(a) Depreciation Allowance Section-32

oI /T ERT-32

(b) Expenditure on Scientific research

Section-35

defre SR W & ERT-35
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(¢) Presumptive Income in case of

taxpayers engagaed In Business of
Plying, Leasing or Hiring Trucks
Section-44AE

D) @ TN, U UR A A R uR el
¥ saar N e a]arnsi & a1

TR 31T TRT-44 U
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